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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3546 ±Constant = 3.275 

 0.689 ±Mean     = 125.5 

 0.4872 ±Sigma    = 7.795 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3546 ±Constant = 3.275 

 0.689 ±Mean     = 125.5 

 0.4872 ±Sigma    = 7.795 
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Chip 1 Vt50 at 2.00fC Nent = 128    
  0.37 ±Constant = 3.418 

 0.6602 ±Mean     = 125.3 

 0.4668 ±Sigma    = 7.469 

Chip 1 Vt50 at 2.00fC Nent = 128    
  0.37 ±Constant = 3.418 

 0.6602 ±Mean     = 125.3 

 0.4668 ±Sigma    = 7.469 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3699 ±Constant = 3.417 

 0.6604 ±Mean     = 124.9 

 0.467 ±Sigma    = 7.472 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3699 ±Constant = 3.417 

 0.6604 ±Mean     = 124.9 

 0.467 ±Sigma    = 7.472 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3539 ±Constant = 3.263 

 0.6915 ±Mean     = 119.2 
 0.489 ±Sigma    = 7.824 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3539 ±Constant = 3.263 

 0.6915 ±Mean     = 119.2 
 0.489 ±Sigma    = 7.824 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3809 ±Constant = 3.519 

 0.6414 ±Mean     = 124.1 
 0.4535 ±Sigma    = 7.256 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3809 ±Constant = 3.519 

 0.6414 ±Mean     = 124.1 
 0.4535 ±Sigma    = 7.256 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3546 ±Constant = 3.276 

 0.6888 ±Mean     = 119.2 
 0.487 ±Sigma    = 7.793 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3546 ±Constant = 3.276 

 0.6888 ±Mean     = 119.2 
 0.487 ±Sigma    = 7.793 
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Chip 0 Gain at 2.00fC Nent = 128    

 1.937 ±Constant = 17.89 
 0.1261 ±Mean     = 53.15 
 0.08919 ±Sigma    = 1.427 

Chip 0 Gain at 2.00fC Nent = 128    

 1.937 ±Constant = 17.89 
 0.1261 ±Mean     = 53.15 
 0.08919 ±Sigma    = 1.427 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.395 ±Constant = 22.13 
 0.102 ±Mean     = 54.52 
 0.07211 ±Sigma    = 1.154 

Chip 1 Gain at 2.00fC Nent = 128    

 2.395 ±Constant = 22.13 
 0.102 ±Mean     = 54.52 
 0.07211 ±Sigma    = 1.154 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.671 ±Constant = 24.67 
 0.09148 ±Mean     = 55.14 
 0.06468 ±Sigma    = 1.035 

Chip 2 Gain at 2.00fC Nent = 128    

 2.671 ±Constant = 24.67 
 0.09148 ±Mean     = 55.14 
 0.06468 ±Sigma    = 1.035 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.966 ±Constant = 27.39 

 0.08238 ±Mean     = 52.68 

 0.05825 ±Sigma    = 0.932 

Chip 3 Gain at 2.00fC Nent = 128    
 2.966 ±Constant = 27.39 

 0.08238 ±Mean     = 52.68 

 0.05825 ±Sigma    = 0.932 
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Chip 4 Gain at 2.00fC Nent = 128    
  1.97 ±Constant =  18.2 
 0.124 ±Mean     = 53.11 

 0.08767 ±Sigma    = 1.403 

Chip 4 Gain at 2.00fC Nent = 128    
  1.97 ±Constant =  18.2 
 0.124 ±Mean     = 53.11 

 0.08767 ±Sigma    = 1.403 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.321 ±Constant = 21.44 

 0.1053 ±Mean     = 51.31 

 0.07442 ±Sigma    = 1.191 

Chip 5 Gain at 2.00fC Nent = 128    
 2.321 ±Constant = 21.44 

 0.1053 ±Mean     = 51.31 

 0.07442 ±Sigma    = 1.191 
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Chip 0 Extrapolated Offset Nent = 128    
 0.7479 ±Constant = 6.804 

 0.6852 ±Mean     = 19.01 
 0.5162 ±Sigma    =  7.55 

Chip 0 Extrapolated Offset Nent = 128    
 0.7479 ±Constant = 6.804 

 0.6852 ±Mean     = 19.01 
 0.5162 ±Sigma    =  7.55 
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Chip 1 Extrapolated Offset Nent = 128    
 0.7824 ±Constant = 7.075 

 0.6918 ±Mean     = 15.77 
 0.5382 ±Sigma    = 7.332 

Chip 1 Extrapolated Offset Nent = 128    
 0.7824 ±Constant = 7.075 

 0.6918 ±Mean     = 15.77 
 0.5382 ±Sigma    = 7.332 
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Chip 2 Extrapolated Offset Nent = 128    
 0.7971 ±Constant = 7.116 

 0.7191 ±Mean     = 13.85 
 0.5672 ±Sigma    = 7.204 

Chip 2 Extrapolated Offset Nent = 128    
 0.7971 ±Constant = 7.116 

 0.7191 ±Mean     = 13.85 
 0.5672 ±Sigma    = 7.204 
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Chip 3 Extrapolated Offset Nent = 128    

 0.7063 ±Constant = 6.328 
 0.9324 ±Mean     = 13.09 
 0.7305 ±Sigma    = 8.291 

Chip 3 Extrapolated Offset Nent = 128    

 0.7063 ±Constant = 6.328 
 0.9324 ±Mean     = 13.09 
 0.7305 ±Sigma    = 8.291 
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Chip 4 Extrapolated Offset Nent = 128    

 0.8496 ±Constant = 7.729 
 0.5923 ±Mean     =    18 

 0.4381 ±Sigma    = 6.576 

Chip 4 Extrapolated Offset Nent = 128    

 0.8496 ±Constant = 7.729 
 0.5923 ±Mean     =    18 

 0.4381 ±Sigma    = 6.576 
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Chip 5 Extrapolated Offset Nent = 128    

 0.808 ±Constant = 7.323 
 0.6516 ±Mean     = 16.25 
 0.5004 ±Sigma    = 7.047 

Chip 5 Extrapolated Offset Nent = 128    

 0.808 ±Constant = 7.323 
 0.6516 ±Mean     = 16.25 
 0.5004 ±Sigma    = 7.047 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 3.584 ±Constant = 33.11 

 4.544 ±Mean     =  1608 

 3.213 ±Sigma    = 51.41 

Chip 0 Input Noise at 2.00fC Nent = 128    
 3.584 ±Constant = 33.11 

 4.544 ±Mean     =  1608 

 3.213 ±Sigma    = 51.41 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 4.643 ±Constant = 42.89 

 3.508 ±Mean     =  1595 

  2.48 ±Sigma    = 39.69 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.643 ±Constant = 42.89 

 3.508 ±Mean     =  1595 

  2.48 ±Sigma    = 39.69 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 5.637 ±Constant = 52.07 

  2.89 ±Mean     =  1560 

 2.043 ±Sigma    = 32.69 

Chip 2 Input Noise at 2.00fC Nent = 128    
 5.637 ±Constant = 52.07 

  2.89 ±Mean     =  1560 

 2.043 ±Sigma    = 32.69 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.675 ±Constant = 43.19 
 3.484 ±Mean     =  1592 
 2.463 ±Sigma    = 39.42 

Chip 3 Input Noise at 2.00fC Nent = 128    

 4.675 ±Constant = 43.19 
 3.484 ±Mean     =  1592 
 2.463 ±Sigma    = 39.42 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 3.625 ±Constant = 33.48 
 4.494 ±Mean     =  1604 
 3.177 ±Sigma    = 50.84 

Chip 4 Input Noise at 2.00fC Nent = 128    

 3.625 ±Constant = 33.48 
 4.494 ±Mean     =  1604 
 3.177 ±Sigma    = 50.84 
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 3.806 ±Constant = 35.16 
 4.279 ±Mean     =  1662 
 3.026 ±Sigma    = 48.41 

Chip 5 Input Noise at 2.00fC Nent = 128    

 3.806 ±Constant = 35.16 
 4.279 ±Mean     =  1662 
 3.026 ±Sigma    = 48.41 
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Channel Number0 100 200 300 400 500 600 700

V
t5

0 
(m

V

0

50

100

150

200

250
Vt50 at 2.00fC Nent = 768    Vt50 at 2.00fC Nent = 768    

Channel Number0 100 200 300 400 500 600 700

G
ai

n
 (

m
V

/f
C

)

20

25

30

35

40

45

50

55

60

65

70
Gain at 2.00fC Nent = 768    Gain at 2.00fC Nent = 768    

Channel Number0 100 200 300 400 500 600 700

E
xt

ra
p

o
la

te
d

 O
ff

se
t 

(m
V

)

0

20

40

60

80

100

120

140

Extrapolated Offset Nent = 768    Extrapolated Offset Nent = 768    

Channel Number0 100 200 300 400 500 600 700

In
p

u
t 

N
o

is
e 

(E
N

C
)

500

1000

1500

2000

2500

3000

Input Noise at 2.00fC Nent = 768    Input Noise at 2.00fC Nent = 768    

Vt50 (mV)80 90 100 110 120 130 140 150 160 170

n
(C

h
an

n
el

s)

0

1

2

3

4

5

6

7

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.4108 ±Constant = 3.795 

 0.5947 ±Mean     = 126.4 

 0.4205 ±Sigma    = 6.728 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.4108 ±Constant = 3.795 

 0.5947 ±Mean     = 126.4 

 0.4205 ±Sigma    = 6.728 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3709 ±Constant = 3.426 

 0.6587 ±Mean     = 126.1 

 0.4657 ±Sigma    = 7.452 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3709 ±Constant = 3.426 

 0.6587 ±Mean     = 126.1 

 0.4657 ±Sigma    = 7.452 
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Chip 2 Vt50 at 2.00fC Nent = 128    
  0.36 ±Constant = 3.313 

 0.6812 ±Mean     =   125 

 0.4822 ±Sigma    = 7.707 

Chip 2 Vt50 at 2.00fC Nent = 128    
  0.36 ±Constant = 3.313 

 0.6812 ±Mean     =   125 

 0.4822 ±Sigma    = 7.707 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3236 ±Constant = 2.977 

 0.7551 ±Mean     =   121 
 0.5339 ±Sigma    = 8.509 

Chip 3 Vt50 at 2.00fC Nent = 128    
 0.3236 ±Constant = 2.977 

 0.7551 ±Mean     =   121 
 0.5339 ±Sigma    = 8.509 

Vt50 (mV)80 90 100 110 120 130 140 150 160 170

n
(C

h
an

n
el

s)

0

1

2

3

4

5

6

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3067 ±Constant = 2.833 

 0.7967 ±Mean     = 120.9 
 0.5633 ±Sigma    = 9.013 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.3067 ±Constant = 2.833 

 0.7967 ±Mean     = 120.9 
 0.5633 ±Sigma    = 9.013 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3441 ±Constant = 3.178 

 0.7101 ±Mean     =   130 
 0.5021 ±Sigma    = 8.034 

Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3441 ±Constant = 3.178 

 0.7101 ±Mean     =   130 
 0.5021 ±Sigma    = 8.034 
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 2.123 ±Constant = 19.61 
 0.1151 ±Mean     = 56.98 
 0.08136 ±Sigma    = 1.302 
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 2.123 ±Constant = 19.61 
 0.1151 ±Mean     = 56.98 
 0.08136 ±Sigma    = 1.302 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.237 ±Constant = 20.66 
 0.1092 ±Mean     = 54.99 
 0.07723 ±Sigma    = 1.236 

Chip 1 Gain at 2.00fC Nent = 128    

 2.237 ±Constant = 20.66 
 0.1092 ±Mean     = 54.99 
 0.07723 ±Sigma    = 1.236 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.322 ±Constant = 21.45 
 0.1052 ±Mean     = 54.43 
 0.07438 ±Sigma    =  1.19 

Chip 2 Gain at 2.00fC Nent = 128    

 2.322 ±Constant = 21.45 
 0.1052 ±Mean     = 54.43 
 0.07438 ±Sigma    =  1.19 
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Chip 3 Gain at 2.00fC Nent = 128    

 2.328 ±Constant =  21.5 
 0.1049 ±Mean     = 53.52 

 0.07421 ±Sigma    = 1.187 

Chip 3 Gain at 2.00fC Nent = 128    
 2.328 ±Constant =  21.5 
 0.1049 ±Mean     = 53.52 

 0.07421 ±Sigma    = 1.187 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.439 ±Constant = 22.53 

 0.1002 ±Mean     = 53.52 

 0.07083 ±Sigma    = 1.133 

Chip 4 Gain at 2.00fC Nent = 128    
 2.439 ±Constant = 22.53 

 0.1002 ±Mean     = 53.52 

 0.07083 ±Sigma    = 1.133 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.301 ±Constant = 21.26 

 0.1062 ±Mean     = 57.22 

 0.07506 ±Sigma    = 1.201 

Chip 5 Gain at 2.00fC Nent = 128    
 2.301 ±Constant = 21.26 

 0.1062 ±Mean     = 57.22 

 0.07506 ±Sigma    = 1.201 
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Chip 0 Extrapolated Offset Nent = 128    
 0.8774 ±Constant = 7.882 

 0.7395 ±Mean     = 10.75 
 0.5809 ±Sigma    = 6.686 

Chip 0 Extrapolated Offset Nent = 128    
 0.8774 ±Constant = 7.882 

 0.7395 ±Mean     = 10.75 
 0.5809 ±Sigma    = 6.686 
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Chip 1 Extrapolated Offset Nent = 128    
 0.7901 ±Constant = 7.118 

 0.6844 ±Mean     = 15.58 
 0.5323 ±Sigma    = 7.231 

Chip 1 Extrapolated Offset Nent = 128    
 0.7901 ±Constant = 7.118 

 0.6844 ±Mean     = 15.58 
 0.5323 ±Sigma    = 7.231 
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Chip 2 Extrapolated Offset Nent = 128    
 0.7373 ±Constant = 6.608 

 0.7599 ±Mean     = 15.59 
 0.5971 ±Sigma    = 7.782 

Chip 2 Extrapolated Offset Nent = 128    
 0.7373 ±Constant = 6.608 

 0.7599 ±Mean     = 15.59 
 0.5971 ±Sigma    = 7.782 
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Chip 3 Extrapolated Offset Nent = 128    

 0.7637 ±Constant = 6.707 
 0.7336 ±Mean     = 14.75 
 0.5765 ±Sigma    = 7.363 

Chip 3 Extrapolated Offset Nent = 128    

 0.7637 ±Constant = 6.707 
 0.7336 ±Mean     = 14.75 
 0.5765 ±Sigma    = 7.363 
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Chip 4 Extrapolated Offset Nent = 128    

  0.71 ±Constant = 6.293 
 0.8974 ±Mean     =  13.4 
 0.7066 ±Sigma    =  8.14 

Chip 4 Extrapolated Offset Nent = 128    

  0.71 ±Constant = 6.293 
 0.8974 ±Mean     =  13.4 
 0.7066 ±Sigma    =  8.14 

Extrapolated Offset (mV)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

2

4

6

8

10

Chip 5 Extrapolated Offset Nent = 128    

 0.7552 ±Constant = 6.769 
 0.7635 ±Mean     = 14.55 
 0.6026 ±Sigma    = 7.643 

Chip 5 Extrapolated Offset Nent = 128    

 0.7552 ±Constant = 6.769 
 0.7635 ±Mean     = 14.55 
 0.6026 ±Sigma    = 7.643 
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Chip 0 Input Noise at 2.00fC Nent = 128    

 5.263 ±Constant = 48.62 
 3.095 ±Mean     =  1464 

 2.188 ±Sigma    = 35.01 

Chip 0 Input Noise at 2.00fC Nent = 128    
 5.263 ±Constant = 48.62 

 3.095 ±Mean     =  1464 

 2.188 ±Sigma    = 35.01 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 4.519 ±Constant = 41.75 

 3.604 ±Mean     =  1581 

 2.548 ±Sigma    = 40.77 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.519 ±Constant = 41.75 

 3.604 ±Mean     =  1581 

 2.548 ±Sigma    = 40.77 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 4.202 ±Constant = 38.82 

 3.876 ±Mean     =  1615 

  2.74 ±Sigma    = 43.85 

Chip 2 Input Noise at 2.00fC Nent = 128    
 4.202 ±Constant = 38.82 

 3.876 ±Mean     =  1615 

  2.74 ±Sigma    = 43.85 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 4.398 ±Constant = 40.63 
 3.703 ±Mean     =  1611 
 2.618 ±Sigma    =  41.9 

Chip 3 Input Noise at 2.00fC Nent = 128    

 4.398 ±Constant = 40.63 
 3.703 ±Mean     =  1611 
 2.618 ±Sigma    =  41.9 
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Chip 4 Input Noise at 2.00fC Nent = 128    

 4.669 ±Constant = 43.13 
 3.489 ±Mean     =  1588 
 2.467 ±Sigma    = 39.47 

Chip 4 Input Noise at 2.00fC Nent = 128    

 4.669 ±Constant = 43.13 
 3.489 ±Mean     =  1588 
 2.467 ±Sigma    = 39.47 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.101 ±Constant = 37.88 
 3.971 ±Mean     =  1495 
 2.808 ±Sigma    = 44.93 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.101 ±Constant = 37.88 
 3.971 ±Mean     =  1495 
 2.808 ±Sigma    = 44.93 


